








































































































प्रश्न न.4) निम्नलिखित को मिलाये।

Ques. No.4 -Match the following.
1. राष्ट्रीय गान / National Anthem
2. गुलाबी शहर/ Pink City
3. बीबी का मकबरा / Bibi ka Maqbira
4. चार मीनार / Char Minar

5. राष्ट्रपति भवन / Rashtrapati Bhawan

(10-अंक/ Marks)

A. हैदराबाद/Hyderabad
B. नई दिल्ली/ New Delhi

C. जन-गण-मन/ Jan-Gana-Mana

D. जयपुर / Jaipur
E. औरंगाबाद / Aurangabad

प्रश्न न. 5) पत्र लेखन

Ques. No.5 -Letter Writing.
(10-अंक /Marks)

नगर निगम आयुक्त को एक पत्र लिखकर अपने क्षेत्र की सड़क की मरम्मत करने का अनुरोध करें।
Write a letter to the Municipal Corporation Commissioner requesting him to repair the road in your area.

या / Or

स्थानीय विद्युत वितरण कम्पनी को पत्र लिखकर अपने क्षेत्र में दो-तीन दिन से बिजली न आने की समस्या के
समाधान का अनुरोध करें।

Write a letter to the Municipal Corporation of your city and request them to solve the problem of dirty
drinking water coming out of your city's taps.

प्रश्न न.6) निम्नलिखित पर लघु टिप्पणियाँ लिखिये।

Ques. No.6-Write short notes on following.

1. मानव जीवन में पानी का महत्व./ Importance of the water in human life.

(20-अंक/ Marks)

2. राजभाषा हिन्दी के महत्त्व को समझाइए। Explain the importance of Official Language Hindi .

3. भारतीय रेलवे का महत्त्व / Importance of Indian Railways

4. इन्टरनेट का महत्व समझाए /ं Explain the importance of Internet.

प्रश्न न.7) निम्नलिखित में से किसी एक पर संक्षेप में लिखिए।

Ques. No.7-Write in brief on any one of the following.

1. महात्मा गाँजी जी के जीवन पर संक्षिप्त टिप्पणी कीजिए।

Write a brief comment on the life Mahatma Gandhi ji.

या/OR

मोबाइल के महत्त्व को समझाइये।
Explain the importance of Mobile.

प्रश्न न.8) निम्नलिखित पर संक्षेप में लिखिए।

Ques. No.8-Write in brief on the following.

1. झाँसी की रानी रानी लक्ष्मीबाई के जीवन पर संक्षेप में प्रकाश डालिये।

Briefly throw light on the life of Rani Lakshmibai, the queen of Jhansi.

या/OR

भारत के महान खिलाड़ी विराट कोहली की उपलब्धियों का संक्षेप में वर्णन करें।

Briefly describe the achievements of India's great player Virat Kohli.

(10-अंक/Marks)

(10-अंक /Marks)
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Q-1 Fill in the blanks

PART-I

10X1=10 MARKS

1. State in India with highest population is
भारत में जनसंख्या के हिसाब से सबसे बड़ा राज्य

2.

3.

At present the total number of States in India are_.
वर्तमान में भारत में कुल राज्य हैं
_state is leading producer of Rice in india.

राज्य भारत में चावल का अग्रणी उत्पादक है।

है।

4. Bhatinda Oil Refinery is located in _ state of India

भटिंडा ऑयल रिफाइनरी भारत के राज्य में स्थित है
5. Headquarter of UNESCO is located in

UNESCO का मुख्यालय सिटी में स्थित है
city.

6. The World Health Day is celebrated on _day of the year.
विश्व स्वास्थ्य दिवस वर्ष के दिवस पर मनाया जाता है

7 Jim Corbet National Park is situated in

जिम कार्बेट राष्ट्रीय उद्यान राज्य में स्थित है ।
8 is the capital of Manipur.

मणिपुर की राजधानी है ।
9 IMEI number is related to

IMEI नंबर से संबंधित है।

10 The Origin of Krishna river is in state.

राज्य में है।

Write the Abbreviations / (पूर्ण रूप लिखे)

कृष्णा नदी का उद्गम

Q. 2)

1.DRDO 2. IIMS

5.GDP 6.HDFC

9.SWR 10.LHB

state.

3.ISRO

7.ICF

10X1=10 MARKS

4.MICR

8.RVNL

Q.3) Choose the correct answer. / सही उत्तर चुने ।

1. Chepauk Stadium is situated in which city / चेपौक स्टेडियम किस शहर में स्थित है

a) Mumbai / मुंबई
c) Kolkata / कोलकाता

10X1=10 MARKS

b) New Delhi/नई दिल्ली
d) Chennai / चेन्नई

2.
find the missing term in Series 4,5,12,39,160 ?

श्रृंखला 4,5,12,39,160,? में लुप्त पद ज्ञात कीजिए
a) 715 b) 805 c) 910 d) 1025
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Q-4 Match the following / निम्नलिखित को मिलाएं

1. Rohit sharma / रोहित शर्मा
2. R Praggnanandhaa आर प्रग्गनानंद
3. Lionel Messi / लियोनेल मेसी
4. Iga Swiatek / इगा स्विएटेक
5. Neeraj Chopra / नीरज चोपड़ा

6. Surat / सूरत

7. Ahmedabad / अहमदाबाद

8. Varanasi/ वाराणसी
9. Lucknow/ लखनऊ

10. Kota/ कोटा

a. Chess / शतरंज

b. Javelin Throw / भालाफेक

c. Lawn Tennis / लॉन टेनिस
d. Cricket / क्रिकेट

e. Football/ फुटबॉल

f Hockey / होंकी
g. Sabarmati River / साबरमती नदी

h.Tapti river / ताप्ति नदी
i. Gomti River/ गोमती नदी

j.Chambal River / चंबल नदी
k. Ganga River/ गंगा नदी

1. Godavari River/गोदावरी नदी

Q-5 Solve the following / निम्नलिखित को हल करे

10X1=10 MARKS

5X2=10 MARKS

1. The cost of 24 bats and 32 hockey sticks is Rs 8400. what is the cost of 03 bats & 04 Hockey

sticks? 24 बल्ले और 32 हॉकी स्टिक की कीमत 8400 रुपये है। 3 बल्ले और 4 हॉकी स्टिक की कीमत क्या है?

2. In a class 70% student are present and 90 student are absent. Find the total number of

student ? एक कक्षा में 70% विद्यार्थी उपस्थित हैं और 90 विद्यार्थी अनुपस्थित हैं। विद्यार्थियों की कुल संख्या

ज्ञात कीजिए ?

3. Convert 840000 centimeter to meter. / 840000 सेंटीमीटर को मीटर में बदलें।

4. Sarah is twice as old as her youngest brother. If the difference between their ages is 15 years.

How old is her youngest brother? सारा की उम्र अपने सबसे छोटे भाई से दोगुनी है। यदि उनकी उम्र के

बीच का अंतर 15 वर्ष है, तो उसका सबसे छोटा भाई कितने साल का है?

5. What is the average of 10, 20, and 30/ 10, 20 और 30 का औसत क्या है?

Q-6) Letter Writing (पत्र लेखन) 1X10=10MARKS

नगर निगम आयुक्त को एक पत्र लिखकर अपने क्षेत्र की खराब सड़क एवं बंद पड़ी रोड लाईट को दुरुस्त करने के लिए

अनुरोध करे / Write a letter to the Municipal Corporation Commissioner and request him to repair the

bad roads and non-functioning street lights in your area.

OR

किसी भी रेलवे के स्टेशन मास्टर को यात्री प्रतीक्षालय में फैली हुई गन्दगी,स्टेशन परिसर की पर्याप्त सफाई न होने से
अवगत कराते हुए, समस्या के समाधान का अनुरोध करे /

Inform the station master of any railway about the dirt spread in the passenger waiting room, lack

of adequate cleanliness of the station premises and request for solution of the problem
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Q-7) Write a short Note on following (Solve any Two)
(निम्नलिखित पर लघु टिप्पणी लिखें) (कोई भी दो प्रश्न हल करें)

1. कृषि नती योजना / Krishionti Yojana
2. स्वच्छ भारत अभियान / Clean India campaign
3. नोटबंदी: असफलता या सफलता /Demonetization : Failure or Success

2X5=10MARKS

4. राजभाषा हिंदी के महत्त्व को समझिए / Explain the importance of official language Hindi

Q-8) Write in brief on following (Solve any Three)
(निम्नलिखित पर संक्षिप्त टिप्पणी लिखें) ( कोई भी तीन प्रश्न हल करें)

1. छत्रपति संभाजी महाराज के जीवन पर संक्षेप में प्रकाश डालिए

Briefly highlight the life of Chhatrapati Sambhaji Maharaj

2. केंद्रीय बजट 2025 और भारतीय अर्थव्यवस्था पर इसका प्रभाव

Union Budget 2025 and its impact on Indian Economy

3. भारतीय संविधान की रचना एवं इसका महत्त्व

Creation of the Indian Constitution and its importance

4. रूस यूक्रेन युद्ध का विश्व पर प्रभाव

Impact of Russia -Ukrain war on World.

3X10=30MARKS

5. Explain the importance of artificial intelligence on human life Explain the importance of

Artificial Intelligence on Human being

मानव जीवन पर आर्टिफिशियल इंटेलिजेंस के महत्व को समझाइए
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• MPr-1 PART - I 

Ql. {A) Multiple Choice Question (1 x 4 = 4 Marks) 

Ql. 

(i) Somebody threw a shoe at him ____ he was speaking. 
a) After b) When c) While d) During 

(ii) . I __ goto the New Year's party if I feel well by evening. 
a) Can b) Must c) Had d) Would 

(iii) He __ ever works as __ as he should 
a) Hard-Hardly c) Hardly-Hard 
b) Hard-Hard d) Hardly-Hardly 

(iv) We went to the market ___ some vegetables. 

(B) 

(C) 

a) For buy b) for to buy c) to Buy d) for buying 

Give Antonyms of the following 

a) Crooked b) Accept 

Give Synonyms of the following 

a) Huge b) Trust 

Solve the following 

c) Tired 

(1 x 3 = 3 marks) 

c) Asleep 

(1 x 3 = 3 marks) 

(2 x 5 = 10 marks) 

1) In a mixture of 60 litre, the ratio of milk and water is 2:1 respectively. If the ratio is to be 

made 1:2, then the quantity of water to be added is 

60 f.il'~ # ~r 3tt"{ qrafr cf;f .1tcr14ic1 ~T: 2:1 ~I 31crl41c1 1:2 cf;.(crll at "1..~ .::, .::, 

f'1l<'llcr1" 

a) 20 litres (20 Jlc:.-t) b) 40 litres (40 ~) c) 60 Litres (60 ~c:.-t) d) 80 Litres (80 ~) 

2} If the first 10 overs of a cricket game, the run rate was only 3.2. What should be run rate 

in the remaining 40 overs to reach the target of 272 runs? 

ma- ~4ic. t 10 3ITTRf- tr 3.2 ~I 272 c=lcf; 4$-ilcri c); 
.::, 

,N 40.matf" # ral tc cflfT ¾ll1tQ? 

a) 4 b) 5 c) 6 d) 7 

3) One man completes 5/8 part of a Job in 10 days. At this rate, how many more days will it 

take him to finish the job? 

aJfi@ fil:;,a1 qiJ'1I" q;r 5/8 3ITTT 10 'R" ~, ~' -m cfir«J1 

fit;aal fa;:1- <'f1rll? 
a) 5 b) 6 c) 7 d) 8 

4) How much time will it take for an amount of rupees 500 to yield rupees 100 at a interest 

of 5% per annum of simple interest? 

500 5% ctl~cfi mt.1W1T g.Qfot 100 11" Fcl,c1a1i 

ft 1fQ <'i a) '" ? 

a) 3.5 years/cflt b) 4 years/q'lt c) 4.5 years/cflt d} 5 years/qlt 

5) What is the probability of getting a sum of 9 from 2 throws of a die? 

Vcf; 'Cfra iJ'R' q;cf,°' 9 cf;'t" ~tftlcf;ctl cR1T ~? 

a) 1/2 b) 1/3 c) 1/9 d) 1/6 



..,, TI :-,1zmn37 

Q3. 

Q4 

P-IR1fitlfac1 1fiT 3mt t Answer the following 
. 

(1 x 10 = 10 marks) 

l)Jil~~:q, tr <IJl!:41.n What is the capital of Australia? 

2) !? What is the currency of Japan? 

3) fcn<f cfiT @ii4itli m m Which is the largest mammal in the world? 

4) ,Hic)t1c1I cliT fact,~c1 Who developed the theory of relativity? 

5) cf,1 <ifli4Plct, What is the chemical. symbol of gold? 

6) <1&0<1ii lftrn;_cflq it t? 
In which continent is the Amazon rainforest located? 

7) ffi c); m t? Who is the author of Harry Potter? 

8) •qm * 1" t? 
Which state is known as 'the land of five rivers'? 

9) ffic ft-;ra'~~it ~t? 

In which state is the Corbett Tiger Reserve situated? 

10) .1ta:n.s~:ci c); it '1o1tlfl Sll'ffl ~? 

Which day is celebrated as International Labor Day? 

1°ilN1fitli1'ct 3mt t Answer the Following (1 x 10 = 10 marks) 

1) c); aAAlo1 34,t,~qffi m ~? Who is the current vice president of India? 

2) 2023 * 311.q~Qa * 3ffi"c1' * 
How many medals did India win the Asian games held in 2023? 

3) 2023 .r G20 ,HI-J.)<>to1 J:l-,filtifl ~T * 
Which country hosted the G20 summit in 2023? 

4) ~T * fcncf cf;tf cf;} o1cflo1c1'1 ,Afcf,,(Uj 

Which country won the latest iteration of FIFA World Cup? 

5) 2023 .r fs\;c\ic,t * 3wTcrf 4H·<fil,t 
..:>- ..:>-

Which cricketer won the Arjuna award in 2023? 

6) cfiT t? What is the full form of SAARC? 
" 

1) cfiT m * GCfRT 3rc=lfuff cfiT il<1t$Q " ' 

Name the spacecraft launched by ISRO to study the SUN? 

8) t;rc)' ffilif cfiT il<1T ;:rJ1T t? What is the new name of Bhopal railway Station? 

9) c); ffl" rt cfiT olT1T ~? Name the tallest railway bridge in the world? 

10) 3TI«f cfiT t? 

Which city is known as the Pink City of India? 

• 



QS 

IJP[-2 eA8I - II 

ft1fn' fll ,JI 1#:t 'tftt 1R' FIii in the Blanks 

1) ___ ti Unit of magnetic flux is ___ _ 

(1 x 10 = 10 marks) 

2) t41},4 Jftt 3n,mfr iliT cl;' i1' ~I Ratio of active power ---
to apparent power Is known as ___ _ 

3) fi\i=ttrNi lf;T a)RJt ---* '8,(fttDI * tR cfil1f ifi«rr t1 Kirchoff's voltage law 

works on the principle of conservation of __ _ 

4) oc '51..f~c< c:fifi{~c< ---* i1 The commutator of a DC generator acts 

asa ___ _ 

s)~JJrnq" 13 cJ;T ~.mmtl" tf'1cj<"4 ____ i, The binary equivalent of decimal number 

13is ___ _ 

6) 1 3n'11 1 ___ * ti 1 Ohm is equal to 1 Volt per ___ _ 

F-or an overdamped system the damping factor is ____ than unity 

8) 1'1Tfr -Hill~d 1ft~41 * ,m- fcl~lld m 61 The electric field inside a perfectly 
1'-' '~ ---

conducting media is ___ _ 

9) ____ Fclc;_1,<1 Jrnnr ct;)- ,Hc1,J~(1 m- a-fAdl q;r VcJ; m-q ~I ____ is a 

measure of the ability of a capacitor to store an electric charge. 

10) aiJ.fdl ----~ &acfd 6 The capacity of a battery is expressed in 

Q6 Multiple Choice Question (1 x 10 = 10 marks) 

1) s;;it44S1A,c # ~lrlf di Ra fcl~llAcrf _ ITT tfc:f,df 

A transformer can have zero voltage regulation at __ 

a) ~~'l tmll tbcfc.-t Leading Power Factor c) tJTcR tbcfc.,t Unity Power 

Factor 

b) qfcR lhcfc.,t Zero Power Factor d) ~Pi,, q'lcR tbcfc.,t Lagging Power 

Factor 

2) M" * mtr Rll,t iliT 3q:lih1 <Fm~ Starters are used with DC Motors 

because 

a) iil;' mIT t 'fhese motors have high starting torque 

b) t m ilT<i crf'tl M These motors are not self starting 

c) JtlAil< um * To restrict armature current 

d) 1l h; f.l'1T.~ mn- t Back e.m.~nitially 

3) tf~c iliT 'mm ~•~The 'time constant' of a series RC circuit is 



Q7 

a) C/R b) R/C c) 1/RC d)RC 

4) VcJ; 3-Ftt.J.t~ct ~c=-aic!rll um * JTT.r In the case of an 
unsymmetrical alternating current the average value must always be taken over 
a) qf;" The half cycle (b) fi?I.J.tl~ i:1sfi The quarter cycle 
C) iTsfi The whole cycle (d}mti cf;T 3fft.J.t~ct Unsymmetrical part of the cycle 

5) ~J.iriQUic1 # m ffl "Qq;" ftfil;tt t:fccf; Which of the following is a Active component? 
a) Q~,t,~· Resistors c) ~iQR< Transistors 

b) *"~<!< Capacitors d) $s(t('.:( Inductor 

6) 48 3fm 110 V mcf * ft.J.tloiict< ¥ sll i~ mct° <>tdlJtdi 
Three 48 ohm resistor are connected in parallel across a 110 V source. The current drawn 
from the source is approximately 
a) 2.3 A b) 0.76 A c) 6.87 A d) 47 mA 

7) l=20mH,C=0.02uFJfn' R=90 3fm * mtf "(!cf;~ RLC~ ~1vllG tR 
~~Gfl~l 6 The impedance at the resonant frequency of a series RLC circuit with L = 20 mH, C 
= 0.02 uf and R = 90 ohm is 

a)O ohm/0 3n1t" b)20 ohm/20 3n1t" c)90 ohm/90 Jn1t"d) Cannot be calculated 1Tl1r.fT 

8) ~r;:r sTms cJlT ct14.J.tloi 6, "ct)" ~4i'11 If the temperature of a PN 
unction diode increases, then the leakage current 

a) WRT 6 Remains the same c) i Increases 

b) "Qc 6"Decreases _____ d) 6 Becomes zero 
9) 680-m !.lfa-0~ 1.2 'Q" firlh-H um Z¥T s3'T 6, ~ici~c;fi mo !.ikl-0~ 12k m 

~, faG1ct c-lB" tm1" A 680-ohm load resistance is connected across a constant current 
source of 1.2 A the internal source resistance is 12k ohm the load current is 
a) OA b) 1.2 A c) 114 mA d) 1.14 A 

10) 1Jl3s q;r tR 

The size of the earth or ground wire is based on the 

a) 

Maximum fault current carrying through the ground wire 

b) -Afil-A ~~~UJ'Ucf6if~ 

Rated current carrying capacity of the service line 

c) ~~ti tR Depend on soil resistance 

d) (1:!") 3fn" (~ Both (a) and (c) 

f.li:.tfilftaa ifiT 3mt t Answer of the Following (2 x 10 = 20 marks) 

1) 34c;J,<_01 350w ctiT 3441dl q;«fT t-, 24 ncfi" <>1'll<1i< m>rol h ~. 
ffi f«ihct;;) f«ihc-rlctie.-"ER" n cfi'r cfitRT 6?A certain appliance uses 350W, if it is 
allowed to run continuously for 24 days, how many kilowatt-hours of ener8Y does it 
consume? 

2) 3ft1:f" * i:ffi" 4fi3it~ct c;fil Define Ohm's Law 

3) $tl~cfi 3mHo1" 144ow, 240v t-1 nrq;r c=rc:q "l1"$" uru m ~fih)tr 
c;J,ll An Electric iron is rated 1440W, 240V. find the current drawn & resistance of the 
heating element. 



• 

M ?itt4iiA< -8€1I<-lcri cfiT ifcITT!'I State the principle of operati~n of a transformer. 

S) M- .rofl.:rt M- *q13s mc{ cfiT er.mt, 

Draw the circuit of DC series motor and DC Compound motor. . 

6) BJT I-V fin~ Draw BJT 1-V Characteristics and label the regions 

7) ~kt~@lc1 .ac=:ua, ftF<ufl Write the truth table of the following 

a) AND Gate/ AND 1lc b) NOR Gate/ NOR 

S) 3fR:tik .. ( Jl- Sfffifsl;:i11 cfl1T c1if<I~ What is meant by armature reaction in Alternators 

9) ~TiJ c#;)" q~Jtl~<1 Define Slip of Induction Motor 

10, 40 • 1,4ffi-0u * ml" am cf;)- '(fc:fj * fc?fv ~, 

fclq,fla tr<" ttA<j~ Sfffi-Otf 

four wires of equal length and resistance of 40 ohm are connected to form a square. The 

equivalent resistance across two opposite corner of square is? 

Q8 Qll .-r 3ilt lflfllq Answer any two From QS to Q11 

Q8 A) BJT* folJ-001 Jttt cfii4S4Uif~ cf,)- ttA$tl$Q (6 Jfc:f,) 

B) 

Explain the construction and working of BJT 

'Qql ?itt4i1A:t cfiT $QAQQ, ttA'lcf,.(Oj 'SJT'c:a 

Derive EMF Equation of a Transformer 

(6 Marks) 

(4,wt;} 

(4 Marks) 

Q9 ~-dj('t ~itt4i1A{ tR 3rrc1ir 3fR ~ift ~~cf;)- .ft~C Jntm" .ft1i$fll! 

3fR s:;ittq,,A,t c);- .1tcr1Atfolc1 ttAcf,ttf * ~<IA'lc>< cfR" (10 lAi) 
.:> 

Explain the Open circuit and Short circuit tests on a single phase transformer with circuit 

diagrams and derive all the parameters of approximate equivalent circuit of transformer 
(10 Marks) 

Q10 l.T) 60-~ mcf fil.:r1c.fl 3TTt@f .ilTol tR Jrro--qtc;f cjc--<-icfil~cfi 

cijUicrii ~I (aft} itR um- cf1'N" 60-~ <1Fticfilfcilq, '1Jfc!t JjUicrii ~I (lft') ~-
.:> .:> 

-qtc;f 50-'i:isfi Uc:< 'CJffc:t 960 31H41QA ~I ~Tn dlUicril ciitl (gt} 

0.05~ en- 60-~, 14-tftc;r mc:t -aiffl" c1furcr1i q;t1 (103rcli} 

a) Calculate the synchronous speed of an eight-pole induction motor when supplied with 

~ower_ from a evclesource. (b) Calculate the synchronous speed of ~cy£le 

mduct,on motors havmg four poles.(c) The rotor speed of a six-pole 5Q--<:ycle induction 

motor is960 rpm. Calculate the percent slip.(d) Calculate the speed of a GQ--<:ycle,14-pole 

motor if theslip s is 0.05. (10 marks) 

Qll 0.2 31m 311RiH ttfc\;c. ~Rl<ltt Jttt 60 Mm .a1lic. ~ffi{)tf 120v M- ~k." 

~, ms- tR 40 A um ufft1c11 ~1 inr c:t)R~1q 3 v JITT" fu ~. 

7Jfc!t 1800 .1¾i{cflQA ~I JIDioil ~: 

A 120 V de shunt motor having an armature circuitresistance of 0.2 ohm and a field circuit 

resistance of 60ohms, draws a line current of 40 A at full load. The brush voltdrop is 3 v and 

rated, full load speed is 1800 rpm. Calculate: 

(a) 3i1U Q'{ 'llfi!tt The speed at half load. 

(b) 125 ~Jn 3-TftmR tR m=a, The speed at an overload of 125 percent. (10 marks) 

of 

125 
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Time allowed- 3 hrs. 

Max. Marks - 100 

1. ~Crf' m 6, m-1 .filcHlcr.Q 31a)v1\ .filcHlcr'4 . .filcH~4i'J V<:r • 

.filcHlcr.Q ;ma.Qcil (40 Jfq,) l!cf m-2 cicha-ftcf;I fcltst.a (60 Jfq,) 

Question paper contains part-I comprising of English Language, General knowledge, 

current affairs and General attitude (40 marks) and part-II comprising of questions on the 

Technical subject (60 marks) 

2. m-1 t;r~Crf' .fi&.QI 1 cflT 3c-ci{ 31a~v1~ Jt 3-if«Aa,.a t Vci- t;r~a=r 2 4 

c,'ch" 3tR' m-2 cflT 3ni{ f6cra'I m 31a)3fl * .fichrl 61 

Answer of part-I, question 1 &2 English Language should be written in English and part-I 

Question No. 3 to 5 and part-II may be written in English or Hi~di. 

3. '(Tcfi m cflT t;r~a=r cflT 3c-ci{ Tifr -:rldl~ CJ'{' fc>l;ma-fl 6, 3fdR' $.fichl 3ia,~ Jrc>m'-Jrc>m' 

31a1~1 CR' f<>l.m8 6° ill a-f"ffe ~.QI 3i1ila11 I 

Question of one part to be answered in one place only, if it is answered at the different 

places, ·later portion will not be evaluated 

,fi fcf,{ o I 1ITcrf R>l '41 3i I <.la I I I 

Question paper is bilingual except Part-A. In case of any confusion, English version will be 

considered. 

s. a1c4a 3c-ci{ Jjq, a=rtf' cf;lcT 3i1ila11 I 

There is no negative marking. 

6. 3c-ci{ 3ic41al 3c-ci{ Yb1chl CJ'{' 3.fr a-fT ~.ml ~I 
.:, 

Except answers, nothing to be written in answers sheet. 

7. 3c-ci{ qf@chl &I~ en)' qfra,r &c-cH CR' cf>1c a-1 
.:, C. 

Unused papers of answer sheet are to be crossed. 

8 • mfr t;r~Crf' Jf f«A a I .a 6 I 
All questions are compulsory. 

9. qfra,r * $Nc:f~,f«A ch 3 q ch{ a, cR"a-fT 6 ~m qfra=m.ff cf1)' crtrw 

afila 311.Qa11 I 

No electric gadget is permitted in the examination hall. Otherwise candidate will be 

debarred from the exam. 
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